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Let f(x)= 3" and evaluate the following:
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Rewrite in Exponential Form
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Rewrite in Logarithmic Form
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Solve the equation. Find the exact solution if possible (no calculator), Otherwise approximate to two decimals.

38) log,(l-x)=4 S 39) 57 =25
84:./”7( ' /C? 25 = 5 37‘
o= ) - X {xwﬂ5! a= 5~&K{231
3=3x A2
40) e =10 - _

nﬁeaa>:;za

don(i9)- 3% (A7 30%]

42) log x + log (x + 1) = log 12 43) log(x+5)-log,(x—-2)=1

H F.S I AEX-MNo =X
Q%OKU‘) tog, )2 oy, 52 b o
- PP . ;
XEHK = ;xﬁﬁ,?% g's K15 (353
i)z ”3 T PN
(&mﬁ)(}f + 4 -y =#1o
44y x*e™ +2xe’ =8¢ 45) 2% =5 5 ) X
oMxr x-8)=0 log 2% 3 ﬁ
eg*(ﬂ ~axx +4)=0 2.3ai0 = 3
() 7] (x4 2,221 )= X
E:Tﬂj \0%3( _ )
= o??
46) 277 =10 47) BIn(3-x)- 4 ——
1agi0: x| In(3-%) = 5

55Qq X“i
Voo o
48) 10 +%-—6 49) log, (x+2)+]0g (x=1)=2 -
%@6‘1 (ﬁ WK‘?E ‘O (?ﬁ’z:)(ﬁ F |
Ja WL oy BY3K=3 ? . ?Zﬂ
. Jex?yR-2LEETS
:ﬁ;( Nz{m\} A+ \__,____ i‘&é;x{gﬁo L,/j
B X %w‘j : : _ RS
3373 A0



50) The initial size of a culture of bacteria is 1000. Affer one hour the bacteria count is 8000. ﬁ(“ﬁf:} ﬁ e,,
a) Find a function that_modeis the populcmon af’rer‘ 1 hour's
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b) Find the population after 1.5 hours.
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¢) When will the population reach 15,000? /
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51) Suppose that $12,000 is invested in a savings account paying 5.6% interest per year.

) a. Write the formula for the amount in the account after t years if interest is compounded monthly.
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b. Find the amount in the account after 3 years if interest is compounded daily.
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c. How long will it take for the amount in the account to grow to $20,000 if interest is compounded

semiannually? 270,000 =2 %0{; @23) 2k
2%
N g & z:!;:,; I obo7 =1, 028 :
At)- 1200001 + ();"25@)’" = 12,000(1.028) - 104 , o, 0007 = 2E |12 925
52) A car engine runs at a temperature of 190°F. When the engine is turned off, it cools according to Newtbn's Law yrs

of Cooling with consignt K = 0.0341, where the time is measured in minutes. Find the time needed for the
engine to cool tg 90°FMif the surrounding temperature is 60°F.
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53?/% sample of bismuth-210 decayed to 33% of its orlgmal mass after 8 days.
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b. Find the mass remaining after 12 days. s
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54) If one earthquake has magm‘fude 6.5 on%chfer Scale, what is the magm‘rude of another quake ‘that is 35
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